Subject: [Bug?] mismatching closing brace with opening brace
Posted by slashupp on Sun, 24 Jan 2016 11:01:11 GMT

View Forum Message <> Reply to Message

I've managed to identify the cause as demo'ed in this code:

void dummy()
{
if (a)
{
if (b)
{
//putting brackets around qouted string containing a s-quote
/lcause the closing brace to mismatch it's opener

c=(""); /lcause mismatch of closing brace

llc=(""); llcause mismatch of closing brace
llc=("\""); //cause mismatch of closing brace
llc=(\"); llcause mismatch of closing brace

/lc="\"; //ok

llc=(""); llok

le=("\""); llok

llc=""; llok

} l/<<<--- placing cursor here will hi-lite brace at 'if (a)’'

}
}

Don't know if this is just a decrement too many, or a symptom of another problem...
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